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QUESTION 1

How does HPE StoreVirtual DSM for Windows enhance Microsoft windows native MPIO?
A. It automatically combines HPE thin provisioning and volume migration technology.

B. It automatically creates an I/O path to each storage system in the cluster.

C. It automatically adjusts tie available bandwidth between the switch and the array.

D. It automatically adjusts transfer block size.

Correct Answer: B

QUESTION 2

Which HPE management tool provides a single, integrated management environment for a converged infrastructure?
A. HPE OneView

B. HPE StoreOnce RMC

C. HPE 3PAR SSMC

D. HPE IMC

Correct Answer: A

QUESTION 3

What do me improved operational efficiencies, service levels, and business flexibility provided by HPE Storage solutions
create?

A. cost reduction

B. business value

C. stability to customer business
D. customer loyalty

Correct Answer: B

QUESTION 4

Your company leverages the HPE Renew Program to deliver an HPE 3PAR StoreServ demonstration unit to a potential
customer looking for a block storage system to run an OLTP application. The customer estimates at least 20 TB of
usable capacity and wants to use the existing 10 Gb/s iSCSI infrastructure. Low latency is important, but cost is also a
concern.
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What should you include in the demonstration unit design to deliver the proof of concept?

A. (8) 1.92 TB SSD drives, (16) 1.2 TB SAS drives, two-port 10 Gb/s iSCSI/FCoE adapter. Adaptive Optimization
license

B. (8) 2 TB NL drives, a two-port 10 Gb/s Ethernet adapter. File Persona license, configure AFC

C. (8) 480 MLC SSD drives, (16) 1.2 TB SAS drives, a two-port 10 Gb/s Ethernet adapter, Adaptive Optimization
license

D. (16) 920 GB MLC SSD drives, an iSCSI adapter, configure AFC

Correct Answer: A

QUESTION 5

A customer has a Microsoft application environment that uses HPE StoreServ arrays. The customer wants to simplify
the process to back up the application data and implement rapid online recovery of the applications, however, the
customer cannot accomplish this from the StoreServ Management Console (SSMC).

What must be added to the solution for the customer to accomplish this? (Select two.)

A. Application Suite for Data Protection

B. Recovery Manager

C. Advanced Shadow Copy Services for Windows Servers

D. Virtual Copy

E. VSS provider for HPE 3PAR StoreServ

Correct Answer: BD

HPEO-J76 VCE Dumps HPEO-J76 Practice Test HPEO-J76 Braindumps

HPEO-J76 VCE Dumps | HPEO-J76 Practice Test | HPEO-J76 Braindumps 3/3


https://www.pass4itsure.com/hpe0-j76.html
https://www.pass4itsure.com/hpe0-j76.html
https://www.pass4itsure.com/hpe0-j76.html
http://www.tcpdf.org
https://www.pass4itsure.com/hpe0-j76.html
https://www.pass4itsure.com/hpe0-j76.html
https://www.pass4itsure.com/hpe0-j76.html

